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1. X and Y are substitutes. An increase in the cost of producing Y and a decrease in the cost of producing
X will result in the following:
(A) A decrease in the price of X
(B) An increase in the equilibrium quantity of X
(C) A decrease in the equilibrium quantity of X
(D) An increase in the equilibrium quantity of Y
(E) None of the above
2. The housing pricesin Taipel have increased alot in recent years. Thisis the result of:

(A) Thehigh cost of borrowing money.

(B) The expectation of an increase in housing pricesin the future.
(C) Anincreasein the population of Taipe.

(D) Anincreasein the supply of housing in Taipei.

(E) None of the above.
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A monopoly faces alinear demand curve and has the following cost structure marginal cost (MC) and
average cost (AC) asrepresented below. Lines KX and KY are related to the linear demand curve, but
their exact meanings depend on your understanding of the question.
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5. If the monopolist is a perfect price discriminator, which line could be its marginal revenue curve?
(A) The demand curve
(B) KX
(C) KY
(D) None of the above

6. If the monopolist is a perfect price discriminator, what quantity could it produce at?
(A)H
(B)G
©T
(D) S
(E) None of the above
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There are only two firms in a particular market. The product is homogenous so both firms face the same

demand curve. P =386—-4Q,where Q=0, +0,.

1. Suppose that both firms have the same total cost function C.(q,) = 2q,, wherei=1,2.

Suppose the two firms decide to cooperate. What combined quantity would maximize the aggregate
profits for the duopoly? And what is the combined profit for the duopoly?

2. Suppose that firm 1 and firm 2 have the following total cost functions respectively:
C(q)=6q, ad C,(q,)=10q,

Both firms compete with each other and choose their quantities independently and simultaneously.
What is the Cournot equilibrium quantity to produce for each firm? What is the profit for each firm

under Cournot equilibrium?
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